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2020
TAX PLANNING AND PROCEDURE — GENERAL

Paper : T-33-G

(Taxation Group)

Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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36

Income from profession ` 7,50,000; Income from other sources ` 1,50,000; deductions u/s 80C
` 1,00,000; Tax deducted at source ` 45,400.

143(3)

42

Total taxable income ` 10,00,000; Advance tax paid ` 67,000; Tax deducted at source from interest on
fixed deposit with PNB ` 5,500; Interest payable u/s 234A ` 4,300; Interest payable u/s 234B ` 2,700.

234B

×

V 30,000 80C

W 50,000

2019-20 X 27 2019

Y 23,000

Z 10,000 80G

40,00,000

A1 A2

Equity shares of ` 10 each 40,00,000 20,00,000
15% loan from SBI — 20,00,000
Expected rate of return — 12% (before tax); Rate of tax — 31.2% (including cess) and rate of dividend
distribution tax — 20.56%.

Demerger resulting 
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01.07.2018 9,00,000

01.12.2018 10,00,000

5,00,000

38

`

(i) Income from business in India 5,00,000
(ii) Income from business in Bahama 2,50,000
(iii) Deduction u/s 80C 1,50,000
(iv) Tax paid in Bahama 50,000

91

×

5,00,000 5

1,20,000

15% 20% 31.2% 10%

[P/V of ` 1 at 10% discount Y1 : ·909; Y2 : ·826; Y3 : ·751; Y4 : ·683; Y5 : ·621]
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[English Version]

The figures in the margin indicate full marks.

Group - A

Answer any two questions 5×2

1. (a) State the due dates of submission of return in the following cases :

(i) A partnership business;

(ii) An individual whose income is subject to audit. 2+3

Or,

State any two transactions for which quoting of PAN is mandatory. 5

(b) When an assessee has to submit return of income voluntarily? 5

(c) When right to claim refund arises? 5

Or,

When a person other than the assessee can claim refund? 5

(d) What is the rate of tax deducted at source in general when no PAN is furnished by the recipient?
5

(e) Adjusted total income of Abhi ` 8,30,000. He wants to donate to a government organisation promoting
family planning.

Compute amount of donation from tax planning point of view and amount of deduction u/s 80G.
3+2

Or,

Atin wishes to take a health insurance policy either on the health of his grandmother or on the health
of his mother. Which one is beneficial from tax planning point of view? 5

Group - B

Answer any two questions 10×2

2. Write a short note on assessment u/s 143(1). 10
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3. From the following information, compute advance tax payable (along with dates of payment) by
Binita (Age 36 years) :
Income from profession ` 7,50,000; Income from other sources ` 1,50,000; deductions u/s 80C
` 1,00,000; Tax deducted at source ` 45,400. 10

4. Write a short note  on scrutiny assessment u/s 143(3). 10

Or,

From the following information, compute self-assessment tax payable by Chandrika (42 years) :
Total taxable income ` 10,00,000; Advance tax paid ` 67,000; Tax deducted at source from interest on
fixed deposit with PNB ` 5,500; Interest payable u/s 234A ` 4,300; Interest payable u/s 234B ` 2,700.

10

5. (a) When an assessee is liable to pay advance tax?

(b) State with an example when an assessee is liable to pay interest u/s 234B. 4+6

Or,

Write a short note on composition of Authority for Advance Rulings. 10

6. State which of the following is tax planning— 2×5

(a) V paid life insurance premium of ` 30,000 on the life of his wife and claim deduction u/s 80C.

(b) W earned commission of ` 50,000 but did not disclose in return of income.

(c) X submitted return of income for the assessment year 2019-20 on 27th July, 2019.

(d) Y did not disclose a payment of ` 23,000 by cash to a supplier.

(e) Z donated ` 10,000 to National Defence Fund and claimed deduction u/s 80G.

Or,

What are the objectives of tax planning? What is tax evasion? 6+4

7. A business entity requires ` 40,00,000 for expansion of business has the following alternatives :
A1 A2

Equity shares of ` 10 each 40,00,000 20,00,000
15% loan from SBI — 20,00,000
Expected rate of return — 12% (before tax); Rate of tax — 31.2% (including cess) and rate of dividend
distribution tax — 20.56%.
Advise the business entity about the best alternative. 10

Or,

Mention any five tax benefits that a resulting company can enjoy in relation to demerger. 10
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8. (a) What tax benefits under Income Tax Act can be enjoyed by an assessee for his/her business situated
in notified backward area of Bihar?

(b) Which is better from tax planning point of view — Bonus to equity shareholders or Bonus to
preference shareholders? 6+4

Group - C

Answer any one question 20×1

9. Write short note on return of loss u/s 139(3). Mention a loss which can be carried forward even if loss
return is not submitted. 16+4

Or,

Write short note on Defective return. 20

10. (a) Who is responsible to deduct tax at source from salary u/s 192?

(b) How Tax to be deducted at source if the employee has more than one employer? 6+14

Or,

Write short note on tax deducted at source from lottery income. 20

11. (a) Mention any four of Income Tax Authorities.

(b) State any two judicial power of Commissioner (Appeal). 14+6

12. (a) Mention any four orders of A.O. against which assessee can make appeal to Commissioner (Appeal).

(b) Mention which one is better from tax planning point of view with reasons :
(i) Dearness allowance (Not forming part of salary)
(ii) Dearness allowance (Forming part of salary). 14+6

Group - D

Answer any one question 20×1

13. (a) State with reasons which one is beneficial from tax planning point of view :
(i) Purchase of one new machine for manufacturing purpose at a cost of ` 80,000.
(ii) Purchase of two old machines for manufacturing purpose at a cost of ` 80,000.

(b) On 03.10.2016 Debashis purchased a house at a cost of ` 6,00,000 for residential purpose. During
the year 2018-2019, he wishes to sell the house. He has two alternatives :

(i) Sell the house on 01.07.2018 for ` 9,00,000.
(ii) Sell the house on 01.12.2018 for ` 10,00,000.

He can provide up to ` 5,00,000 for savings in tax.

Advise Debashis about—
(i) Best alternative from tax planning point of view
(ii) The ways through which he can save tax. 10+10
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14. (a) Enayet is given following options by his employer—
(i) Provided him with a computer (ii) Provided him with a washing machine.

Which one Enayet will accept?

(b) Falguni (Age 38 years) furnished the following information :
`

(i) Income from business in India 5,00,000
(ii) Income from business in Bahama 2,50,000
(iii) Deduction u/s 80C 1,50,000
(iv) Tax paid in Bahama 50,000

There is no double taxation avoidance agreement between India and Bahama.

Compute relief u/s 91 and tax payable by Falguni. 6+10+4

Or,

Which one is better from tax planning point of view in case of an assessee working in a company :

(a) Medical allowance vs. Reimbursement of medical expenses,

(b) Lunch allowance vs. Lunch provided by the employer? 10+10

Group - E

Answer any one question 30×1

15. A business entity wants to purchase a machine costing ` 5,00,000 having 5 years of life. The entity has
two options :

(a) To purchase immediately out of own fund.

(b) To obtain by lease by paying a lease rent of ` 1,20,000 p.a. payable at the beginning of the lease.

Rate of depreciation 15%, Rate of additional depreciation 20%, Rate of tax 31.2% (including cess) and
Rate of discount is 10%.

Advise the entity.
[P/V of ` 1 at 10% discount Y1 : ·909; Y2 : ·826; Y3 : ·751; Y4 : ·683; Y5 : ·621] 30

16. Discuss the tax implications in the following cases and also state which one is suitable from tax planning
point of view in each case :

(a) Purchase of a machine out of own fund vs. Purchase of a machine by obtaining a loan with interest.

(b) Repairing of machine vs. Replacement of machine.

You can make necessary assumptions. 15+15


